SERVICE

1.1992

Spare parts
Ersatzteile
Pieces détachées
Repuestos
Reservdelar

106 23 33-62

15. 91-92 Printed in SWEDEN Fdiths i Varnamo




* compl 502 18 06-01 RD/R

* 502 14'92-01
* 502 14 94-01

502 18 11-01 *

- * 502 14 96-01
* 502 14 93-011
* 734 11 36-01)
* 72412 93-61,

502 14 95-01

73511 35-50 *
5032183-21 *

1735 11 35-50 *
£503 21 83-21 *

502 14 79-01

502 12 44-01 :
1503 21 83-35 ** compl 502 18 12-01
1503 23 00-31 :

;503 23 00-16 o

762 91 02-05

502 14 81-01

Ty
503 23 OO-lGN
503 23 00-31—\@ 502 12 43-01

503 21 83-36 \g (Sweden only) 502 12 43-02

4502 18 19-01

B (125US Can) 53100 24-9
(132 US,Can} 531 00 24-97 72553 31-01 (M5 x 20)
(125)531 00 2359 ?
(132) 531 00 23-60 )
531 00 23-56

— ('(125) 531 00 23-54
- ((132) 531 00 23-55

725 53 33-01 531 00 24-98

(US,Can) 531 00 40-01

(M5 x 25) (125 US,Can)
(US,Can)  5310040-02 531 00 24-99
(US,Can) 531004003 (132 US,Cany
531 00 24-18
(125) 531 00 23-57
(132) 531 00 23-58,

72553 29-01 (M5 x16) ~%\I




T 502 19 19-01 U
502 18 09-01 531 00 40-22

502 18 10-01
502 04 55-01
L/LD
R/RD/RJ/RJD
H * compl 531 00 23-87 753100 23-90

«* compl 502 19 11-01
- * 531 00 23-88;

** 72523 29-71
** 734 11 46-01 \ @» 502 19 12-02
. - :
' W '7353127-10 ** ¢
N 73821 00-02 **
502 19 14-01 **

502 19 15-01 **

1502 19 16-01 **

50219 17-01 **

K 734 11 46-01 **
72523 33-71 **

G 725534101 (M5x50) 1531 00 24-57

(125) 531 00 23-51
(132) 531 00 23-52

" e ——

531 00 23-53
531 00 23-50
531 00 24-53
531 00 24-54
72553 33-01
531 00 23-65 (M5 x 25)

1531 00 23-63

531 00 24-56




R/L

502 19 10-02

502 18 05-01 (125)
531 00 24-67 (132)

Q

502 19 47-01

725 23 33-51 \E

502 19 48-01

%

502 19 49-01

502 19 50-01

725 23 33-51

L

501 78 40-01

LUSA, 531 00 24-68

502 19 30-01

\ 501 31 40-01
/\ 502 02 61-01

501 95 49-01

531 00 40-07

@ 531 00 40-06
531 00 40-05

fFrance only

@_ﬂ——‘ 531 00 40-04

531 00 23-45

USA




F 7 (125) 531 00 23-81
(132) 531 00 23-82

531 00 24-02 \

(125) 531 00 23-68;
(132) 531 00 23-69,

({125)531 00 23-68
((132) 531 00 23-69
1(125) 531 00 23-85
(132) 531 00 23-86

0 * compl 502 18 14-01

"+ 503 21 83-22
L/LD

501 78 33-01
+ * 50218 18-01
503 21 83-16

N 5
—.".J ”
ol

i
@_ 502 18 88-01

502 14 65-01

502 18 16-01
502 18 15-01

502 18 17-01

s * compl 531700 40-26

* % 725233351

* x 73511 35-50—\@
* * 503218341 \/,\
\% /\\ P,

S

* 502 14 69-01
© % 738 21 98-00¢

. /\ : @— 73531 31-10 *
. : @k 73531 1141 *
2 | 738 21 99-01 *

738 21 99-00 *

4 T 502147401 *
503 20 00-03 ?

" * 502 14 71-01

* 502 14 71-01

T x 73821 02-04-
1 * 735 31 25-10)




K * compl 531 00 23-67 (132)

* compl 531 00 23-66 (125)
(125) 531 00 23-73
(132) 531 00 23-74

(125) 531 00 23-72

(132) 531 00 23-71 \Hj/
2 % 531 00 23-70

1531 00 24-06

725533501  {M5x30)

: 725533101 (M5 x20)
1531 00 23-93
725533101 (M5 x 20)

J 531 00 24-15 —
531 00 24-15

531 00 24-14

-c'/_
@ 53100 24-12
@

531 00 24-11
531 00 24-13
531 00 24-17
531 00 24-10
@
\\/© 531 00 24-09

\7

531 00 24-07 (125)
531 00 24-08 (132)




D @/,/— 531 00 23-63

125) 531 00 23-61

(
(132) 531 00 23-62

(125 US, Can) 531 00 24-94
(132 US, Can) 531 00 24-95

1531 00 23-65

E * compl 531 00 23-96
* 531 00 23-98 ,

" * 53100 23-97

531 00 24-05
531 00 24-01
531 00 23-95
531 00 23-94
7255297-01 (M4 x 25)
(531 00 24-03
L { 725529301 (M4 x 16)
531 00 24-62 ?\ 531 00 24-58
(4 A 531 00 24-59
<l 53100 24-60
531 00 24-63 )
4
y o
@, _
2 \Ql, 53100 24-93
) ) 2413200 (512
\

l/@\ 1531 00 24-65




* compl 531 00 24-20 (132)
* compl 531 00 24-19 (125)

531 00 24-43 *

* * 53100 24-44
* 531 00 24-455

" ¥ 53100 24-46 531 00 24-42
w 531 00 24-41 * -
531 00 24-40 * .
/ 1531 00 24-39 * ¥

53100 24-48 *
53100 24-49 *
*
*

* %k k|

531 00 24-52

531 00 24-47

g/ 531 00 24-50
* 53100 24-21 *

g 531 00 24-50
* 531002422 _ — —4&

53100 24-51 *

* 53100 24-28;
* 53100 24-29)
* 531 00 24-30)

* 531 00 24-31 /'@

* 53100 24-32 =
* 531002433 -5

=
* (125) 531 00 24-34
* (132) 531 00 24-35

8- —

* 531 00 24-36

* 531 00 24-37
|

* 531 00 24-38. \E




531 00 22-02

531 00 22-06
531 00 40-24

&——— 53100 22-11

531 00 22-01

(RJD)! 5310040-23
(LD) 53100 22-08

531 00 22-07’

(RD¥RJD) 53100 40-09 531 00 22-05
(LD) 531 00 22-09

531 00 22-04

53100 40- 25 531 00 22-10 531 00 22-03






